



St. Louis County, Minnesota

Date of Report: 12/16/2025 5:24:04 AM

General Details

 Parcel ID:
 420-0030-02320

 Document:
 Abstract - 01506419

Document Date: 02/27/2025

Legal Description Details

Plat Name: LAVELL

Section Township Range Lot Block

14 55 20 -

Description: SW 1/4 OF SE 1/4

Taxpayer Details

Taxpayer Name KUBENA JASON P & KATHRYN C

and Address: 3420 19TH AVE E HIBBING MN 55746

Owner Details

Owner Name KUBENA JASON P
Owner Name KUBENA KATHRYN C

Payable 2025 Tax Summary

2025 - Net Tax \$1,033.00

2025 - Special Assessments \$25.00

2025 - Total Tax & Special Assessments \$1,058.00

Current Tax Due (as of 12/15/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$529.00	2025 - 2nd Half Tax	\$529.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$529.00	2025 - 2nd Half Tax Paid	\$529.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 10971 OJA RD, HIBBING MN

School District: 2142
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
151	0 - Non Homestead	\$26,400	\$127,000	\$153,400	\$0	\$0	-	
111	0 - Non Homestead	\$31,900	\$0	\$31,900	\$0	\$0	-	
	Total:	\$58,300	\$127,000	\$185,300	\$0	\$0	1853	





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:24:04 AM

						12/10/2023 3.24.04 AIV			
			Land D	etails					
Deeded Acres:	40.00								
Waterfront:	=								
Water Front Feet:	0.00								
Water Code & Desc:	-								
Gas Code & Desc:	-								
Sewer Code & Desc:	-								
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are no	ot guaranteed to be su	rvey quality. A	Additional lo	t information can b	e found at				
https://apps.stlouiscountymn.	gov/webPlatsIframe/fri	mPlatStatPop	Up.aspx. If t	here are any ques	tions, please email PropertyTa	ax@stlouiscountymn.gov.			
		-		ails (QUEN CA	•				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	2019	720		720	<u> </u>	CAB - CABIN			
Segment	Story	Width	Length		Foundati				
BAS	1	20	36	720	POST ON GR				
DK	1	12	18	216	POST ON GR				
Bath Count	Bedroom Cou	nt	Room (Count	Fireplace Count	HVAC			
0.0 BATHS	-		-		-	STOVE/SPCE,			
		Impro	vement 2	Details (DG)					
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1980	448	8	448	-	DETACHED			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	1	16	28	448	POST ON GR	ROUND			
		Improven	nent 3 De	tails (CONST	TT)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	0	1,56	68	1,568	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	0	14	56	784	-				
Improvement 4 Details (CONTAINER)									
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	320	0	320	-				
Segment	Story	Width	Length		Foundati	on			
BAS	1	8	40	320	POST ON GR				
Improvement 5 Details (QUENSET ST)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	16:		162	-				
Segment	Story	Width	Length		Foundati	on			
BAS	1	9	18	162	POST ON GR				
		Improv	ement 6 l	Details (14X22)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	2019	308		308	-	-			
Segment	Story	Width	Length		Foundati	on			
BAS	1	14	22	308	POST ON GR				
5/0	ı	17		300	1 001 011 01				

2 of 4





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:24:04 AM

			nent 7 Details	•				
Improvement Type					asement Finish			
CAR PORT	0	24		Area	-		-	
Segmen		•				Foundation		
BAS	1	12	20	240	POST ON (GROUND		
		Improvem	ent 8 Details (SEMI TRAIL)				
Improvement Type Year Built								
STORAGE BUILDING 0			288 288 -				-	
Segmen		•	_		Found			
BAS	1	8	36	288	POST ON (GROUND		
		Sales Reported	to the St. Lou	iis County Audi	tor			
No Sales informat	tion reported.							
	·	Δ	ssessment His	story				
	Class	Α.		otor y	Def	Def		
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity	
2024 Payable 2025	151	\$28,300	\$52,800	\$81,100	\$0	\$0	-	
	111	\$34,600	\$0	\$34,600	\$0	\$0	-	
	Total	\$62,900	\$52,800	\$115,700	\$0	\$0	1,157.00	
	151	\$26,100	\$43,900	\$70,000	\$0	\$0	-	
2023 Payable 2024	111	\$31,400	\$0	\$31,400	\$0	\$0	-	
	Total	\$57,500	\$43,900	\$101,400	\$0	\$0	1,014.00	
2022 Payable 2023	151	\$24,600	\$40,500	\$65,100	\$0	\$0	-	
	111	\$29,100	\$0	\$29,100	\$0	\$0	-	
	Total	\$53,700	\$40,500	\$94,200	\$0	\$0	942.00	
2021 Payable 2022	151	\$21,100	\$33,000	\$54,100	\$0	\$0	-	
	111	\$23,900	\$0	\$23,900	\$0	\$0	-	
	Total	\$45,000	\$33,000	\$78,000	\$0	\$0	780.00	
		1	Γax Detail Hist	ory		<u></u>		
			Total Tax &					
			. otal . ax o					
Tax Year	Tax	Special Assessments	Special Assessments	Taxable Land	Taxable Bui MV MV		al Taxable MV	
Tax Year	Tax \$925.00	•	Special			Tota		
		Assessments	Special Assessments	Taxable Land \$57,500 \$53,700	MV MV	Tota	\$101,400 \$94,200	





St. Louis County, Minnesota

Date of Report: 12/16/2025 5:24:04 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.